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2N SRED
M QHNGtD Holst E28A £ d
gelr E2 |2 EER=E)
M- B SRASH) - HRAR - B2 of v e HIDE2
clat 18,997,755 16,815,381 3,182,374
Jl 944,000
Al 18,063,755
to #Helst E288 X4 18,934,177 16,749,813 3,184,364
Jl 944,000
Al 17,990,177
=A2el 13,887,152 9,987,457 3,899,695
Jl 944,000
Al 12,943,152
2 ¥ EZANLEE 22 4,611,700 7,880,770 A3,269,070
201 er23 | 49,000 25,300 23,700
01 At2teltl 44,680 20,980 23,700
O=2=2=+AM, MEHd § &I axt=z
500,000 %152 7,500
OHMAED RFHIAAY 2228 2,880
— M NEE2 otR32 MeEs
120,000« 12& 1,440
—& 81001 & 120,000& «12& 1,440
OXNZIIZ=E - NHYAE ML 10,000
—ANH=2E 160,000& »40& 6,400
—AHGUEXE 720,000& %58 3,600
OEHIGIAAI A S/W I
200,000 *3CH 600
O=2H| 23,700
—0RI2% 60,000 *1H+365! 21,900
—g3=d 60,0003 »1& *30& 1,800
02 35244l 4,320 4,320 0
ON&&ED 2= 1,920
— M= ls5E2 olR32 MEd
80,0002 122 960
—&&001 HEE 80,000& * 122 960
OE2 & E2AIEE 0TV =Al2telH]
200,000 * 122 2,400
203 HR=H] 3,790 3,790
03 A=A PR 3,790 3,790
Ok=zdd g4 3,790,000& 3,790
206 MH=H| 180,000 180,000
01 M=4l 180,000 180,000
OXUotAZ S &2 ¥ E2RHHAEE &
- ZH7E 15,000& %12,000 180,000
401 AIEHIZ R HYI 4,378,910 7,671,680 A3,292,770
01 Al&H| 4,370,000 7,640,000 23,270,000
O==2EXEZ FH(sX2el)
500, 0002 2004 100,000




2 E22e|
M. OHMEtD Helst TeEtd &Y
o2 &2 A2 (EEEE))
= - d L=
SA - BE - G9I(3H) - NIRAY - BAS Ol v e HlRE2
ORdAl 2U S2EXT HHIBAHEZY
OHLHE AL 2,500,000 *607H 150,000
OL2RA & ZHISA
3,300,000,000& 3,300,000
ORQIWSHHEEH| HAXIHI(BIOHREA])
35,000,000 404 2~ 140,000
OEZHMAIEE &X £ |X2el 380,000
—XdZ2elth Xl
200,000&=1,750& 2+ 350,000
—EZANE=E 7A22 30,000,000& 30,000
ONEZ TZFBISA
30,000&*10,000m* 300,000
03 AIE S CHHI 8,910 31,680 AN22,770
O=2RX & HHISA
3,300,000,000& +0.27% 8,910
2% &1 & 2el 4,501,492 0 4,501,492
401 AIEHIZ 2018 4,501,492 0 4,501,492
01 AlEHI 4,480,000 0 4,480,000
OL= BE& FHHISA
100,000& *25,000m’ 2,500,000
OsUiiz BE=3UISA
100,000& *10,000m* 1,000,000
OusSAAt OISE2AAE HUISA
100,000& *5,000m" 500,000
O+FxS8D E82 HHIZA
100,000& *3,600m" 360,000
OEEHMAIE &X & 2l 120,000
—SBXT=Eel il ¥ &X
400,000& x250& 2+ 100,000
=ctE &Edl ¥ 4X
200,0002 * 1000 2~ 20,000
03 AIE 2 CHHI 21,492 0 21,492
OkL=E 2% HUISA
2,500,000,000& *0.36% 9,000
OsUHiiZE BESHUISA
1,000,000, 0002 *0.63% 6,300
QS OlsSHYAIE ZHIZA
500,000,000&*0.72% 3,600
O*FZS8 D E82 HHIBA
360,000,000 +0.72% 2,592
sEI| My 1,025,460 866,337 159,123
201 ZEet2& ] 160,160 152,537 7,623
01 At 2telt] 5,520 12,470 26,950
OTHoll & HoitiE HIA2SN =4I|
8,000& x23H+30 5,520
02 2324l 154,640 140,067 14,573
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M QHNGtD Holst E28A £ d
gelr E2 |2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONSE+=2AEX K2l
250,000 »245H 61,250
ON&IN(&EI| §) |Xl2el]
400,000 *950H 38,000
ONEXE (S 28 Sties
18,0002 «41CH+5E 3,690
OMExtg & SEXEY FA2cil 51,700
— XS XAl 200,000 +6CH 1,200
—XE 288 600,0002*10CH 6,000
—SFNERE= 300,000 #5CH 1,500
—R54l & !Xl 43,000
5&8(58), a=2(48)
3,000,000 *5CH 15,000
- 3= (EE) 3,500,000 *2CH 7,000
-SE(UE, S=) 7,000,000 =3CH 21,000
206 MH=HI 391,800 247,800 144,000
01 MZH| 391,800 247,800 144,000
OZait® MEXH P (HSBHEH S) 391,800
— I HEN 400,000 +852& 340,800
—&lEd HYMEH 300,000& +70= 21,000
—JIE Tt (MEE, MEE?, 228 28
S) 30,000,000 30,000
401 Al HIZL 01| 256,000 256,000
01 Al&H| 256,000 256,000
OFUHEZ HExY 29 256,000
— 1A (H=E RHE S5 MES 4S)
120,000,000 120,000
—22A (LS, ANES, HeHS)
80,000,000 80,000
—3AA(E=28,288) 56,000,000 56,000
405 AtatE = 217,500 210,000 7,500
01 ML ESFSHI 217,500 210,000 7,500
ON&EEl &2 Wk 217,500
— 1568 &%)| 60,000,000 *3CH 180,000
—1E &1 12,500,000 *3CH 37,500
o2 XSstArd 2,200,000 1,236,000 964,000
403 AXIEHHISAH=0lH 2,200,000 1,236,000 964,000
02 SIS0t 2 S A A 2,200,000 1,236,000 964,000
OZZ XSAE 2,200,000,000& 2,200,000
SHAAT XS3HAY 1,544,000 0 1,544,000
) 944,000
Al 600,000
403 AXIEMSA=201E 1,544,000 0 1,544,000
Il 944,000
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=2 2 |A2e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 600,000
02 SISOt =2 A 2 E A I 1,544,000 0 1,544,000
ORdFALx XISSIAHY
1,544,000,000& 1,544,000
Jl 944,000
Al 600,000
CREE2C 4,500 4,350 150
201 er23| 4,500 4,350 150
01 At2teltl 2,800 2,800 0
O=2&c|aols g
100, 0003 »7 & *43] 2,800
02 S3=gHl 1,700 1,580 150
OuX&s FHl KA 1,700
—a gl 700,000 x 1M E 700
—&£5J| FA&cll 1,000,000& 1,000
ZAIE=S FA2e 5,047,025 5,762,3% AT715,331
M Ed £ 880,000 880,000 0
401 AIEHIZ SO 880,000 880,000 0
01 Al&H| 880,000 880,000 0
OE=2Ad= N EH 9
880,000,000 880,000
ANEE otE 2 882,235 1,195,144 A312,909
201 et 3| 142,730 142,730 0
01 At2t2l] 36,050 36,050 0
OE==sw & 10t s20| HIIZA ===
= 350,000 *7 I 2+ 13] 2,450
OXIGHAtE &J|€H| etd2ie| W=+
400,000 *7H A+ 122 33,600
02 S3=gHl 106,680 106,680 0
OE==u s&J| & Kotz 5838= 24,000
—&JIes 1,500,000& «12& 18,000
—Ste= 500,000& 122 6,000
OEx==u € 0t s2J| |2l 82,680
—5&J| =A2e Y
145,000 x18CH 122 31,320
—s3J| OV |2l 24
120,000 x7 4 2% 123 10,080
—s5dJ| B2EG
67,5003 x16CH 22|« 122 25,920
-5 AFEH
20,0003 x16CH 42|« 128 15,360
206 M=l 2,400 2,400
01 MHZHI 2,400 2,400
OXIotate &I & B82S 2Tt
- 200,000 122 2,400
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M OKMGID Bl C2E X4
el E2AlEE R (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
308 XXM S0IH 28,821 2,562 26,259
07 XSRS 28,821 2,562 26,259
O=210in |2l 288
28,820,370 28,821
401 Al&HIL ORI 708,284 1,011,452 303,168
01 Al&t] 704,000 1,004,000 300,000
O2ES1 - DO 20| L ooV g2z
4,000,00024* 16CH 64,000
OZ2AIES I L HISBEELN R
Gl 40,000
— XI5t RtE 5,500, 0002 #6702 33,000
— S SSHE 7,000,002 #1702 7,000
OZ2AIEE RXEISA
470,000,0009 470,000
OZ2ALE HMHE L ELBA
100,000,000 100,000
OZZAIEE He ¢ ZYHAH B4
30,000,000 30,000
03 Al =i 4,284 7,452 ~3,168
OZ2AIEE RXBEIBA
470,000,00024%0.72% 3,384
OZ2AIEE HH L ELTA
100,000,000 *0. %% 900
2 2l 3,284,790 3,687,212 NAR,422
201 LEr2 | 2,203,2% 2,443,296 240,000
01 AR 22/l 30,000 30,000 0
OB 48
30,000,00024 %13 30,000
0”2 2224t 2,173.2% 2,413,296 240,000
ON2S ®IIR3 180,000,000 * 122 2,160,000
OJ=E =288 su|
4,0002%277CH* 1228 13,29
202 04| 1,440 1,440
01 ZUHoidl 1,440 1,440
OJ=2S gx2e B2 oyl
1200002 124 x 128 1,440
206 M2l 436,022 436,022
01 X2t 436,022 436,022
ON2S B4 2 436,022
- 30,000& *15,5035%25/100 116,273
ar=pl 45,0008 *15,503525/100 174,409
—JIEIXITH(LEDS DI, LersSII7, 32E
g) 290,680, 0002 *50/100 145,340
401 Al HIL 2L 644,032 807,8% 163,862
01 Al&t] 640,000 802,400 162,400
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Rl E2AIEE =X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJtzs dd & FAE+ 640,000
—&0I124 140,000,000 22 280,000
—AAEE 90,000,000& =23 180,000
—2FA 90,000,000& »23] 180,000
03 A2 20HHI 4,032 5,494 A1,462
OJtzs aE & B2+
640,000, 0002 +0.63% 4,032
dF2LIH(=22en) 63,578 65,568 21,990
el 2 E 350 0 350
eIg =3l 350 0 350
101 e124d| 350 0 350
03 SRA(RIH L) 222+ 350 0 350
OSga? 324 1= 350
—&gs 100,000 1 100
—QtM 10,0003 +1& 10
— Q& 2T 15,0002 +1& 15
R urakcl 35,0002 +14 35
—gets 80,000 *1& 80
—&st2 10,0003 x1& 10
—&stst 70,0002 %1 70
—<9 10,0008 %1% 10
— &3t 20,0003 *1 20
Jl=3H| 63,228 65,568 2,340
Jl=23H] 63,228 65,568 A2,340
201 er23| 25,728 26,808 A1,080
01 At2teltl 24,840 25,920 1,080
ORNEgII123H 24,840
—2Bt=Sh| 40,0003 ~23E* 122 11,040
—=&l 50,0002 x23E«12& 13,800
2 s3234| 888 888 0
OoRER=a 888
—gged 4302 +2521x 122 129
—SJIfH 2,530 %2521+ 122 759
202 04| 33,300 34,560 1,260
01 2LHA b 33,300 34,560 1,260
OgRFZ|=0d|
120,000 x23 122 33,120
O=%2a =4 238 I=82 0yl
180,000 1 180
203 HR=4Y] 4,200 4,200
M A2 LIRFAI 4,200 4,200
ORANEgg =AY 350,000 * 12 4,200




